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® 912 > (a+b)? = a® + 2ab + b?
@ 597% - (a-b)? = a® - 2ab + b*
® 1032 - (a + b)? = a® + 2ab + b?
@ 84x 75— (a+b)(a—b) = a® - b?

® 50.9x49.1 = (a+ b)(a—b) = a® — b>
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D (x7)2 = (:3)2 = x10

@ (3a%b)? + a®b = 9ab

® (2x2+5x-T7)+ (=3x2 +6x+6) = —x? + 11x + 2
@ (6a®b + 4a®) +2a = 3b + 2a

® —3x(2x—y) + 9x? = 15x2 + 3xy
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4. (x+3y-1)(2x+y-2)E A7NstH?

@ 2x? +3x+ 5xy +2y2 -2
@ 2x> +x+Txy+3y2-5
® 2x2 —dx+Txy+ 3> -7y +2
@ 2x% + 4x + 3xy +3y? -3y -2

® 2x2 —4x+ Txy+3y> =5y -2
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@ S =nab @ S = 2nab ® S = 4nab

@ S = Srab B S = 167ab
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15. (a+b+c—-d)(-a+b+c+d)+(a+b-c+d)la-b+c+d) &
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